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^ + J

b + S

4.+ 3,

/ + /

^ + s
Ai+ 3.

4c+ s

3 + /a

c^ + cf

6 + /
3. +3
6 + S

5 + //.

6 + /a

s+ ^
<5 + S

^ + ^

cf + c?

^ + J
<3 f /^

6 + 6

/ + /

3+2
6 +u
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/ + / -
c5 +i - / + J-

1^1- / + ^- J+ /-
<3+<S- 4^+/ - c^ + i -

/ + A- J + cf- / + / -

j+ d- J+ / - 2+c^-
c5-+ / - ^ + ^- U^ / '

^+ - l> J+ - ^ c?+ - (^

S* '5 / + -^ ^^- -cl

/ + -^ ^+ -c? / ^- - ^

J + -4^ U+ -6 4^+ -(?

/+ '6 1^ - i J- =^
U+ "6 /+ -4 J+ - ^

+ J-C? + ^-4 + / -^
^3-6 + / - J + ^- J
+ U-S + 5-4^ w-^
+ 3,- i> + / - 6 + :z - 6

+ / -c5 + 4^-^ ^ d-U
+ <^-

^

+ J- J + / - 6
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J + /-
^+4-
<S^/ ^
Z + cJ-
^+^-
/+4..

+ 2-.^
*^»^
+ /-_2
+ c?-^
^d-6
+ /-C?

<3 + ^ -

^ + 4c-
/ + ^ -

S + / -^^ / -

/^cJ-

^ +

c3 +

/ +

-2 +

4^ +
/ +

+ ^-4c

+ /»4

^ +

^ +

/ +

<3 +
-3.
'<5

2 +

/ +

6 +
4^ +
/ +

/ + -4^
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+

+
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7-s^
7 -c3^

+

+ ]
= /
= 7

c3 +

/ + = 7

+ ^ -7

+ ^ =7

-^<^-7
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s ^^-
6 ^ /-
3. / dT-
/ ^ /-
S ^c?-^^^-

^ =
•c5- +

7- 4 +
d~ =2 +
c3- / +
^. c? +
y- ^ +

6=4^ +

6 -c^ +

+ / - V

c5 +

/ +
4^ +

cf+ .

o2f -

c^+ -

^ + 4^-
c^+^-
c?+/-
4^ + cJ -

^+/-
/+^-

'7
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<5^ - ^ 7 - / + 7- *-2

J+ - 7 7 - s^ cf- -^ J
S+ - c3" cJ - j + ^ - +4^

4.+ -
7 ^ = / + //= + /

c?+ - 4^ 7 - c5" + 7- -cJ

^+ = ^ c5 = ^ + / = ^s

J^//" -^<5 - 4^ ^ - / *

/ + J = + / " c5" cJ -c5 +

^+ c5 = -c3= 7 4^ = ^ +

c;+=2 = -4^- ^ /=//-
/+// = + J = J 7=^-
^+^ = - /= 7 ^ = ^-

7 =

J-
6-
7-
4^-

/+ -4^

»2 + S 6' /
'6 S-U
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7--2.'
7-6-
7-c3'

6-^
6 - s

^ - J

s ~s
S-6
6 -/^.

6-0-

U- 0-

6 -
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- S
-a

cf-c?-

/ - S-

J - // -
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c3 + 4^- y-u-
c^+ / - 's- / - •!* "?
^ + c3- U-2.- J+ -<5

/ ^ U- 6- <3-

^^ (5- 6-2.' 4^+ -<^

U-^2.' 7-s- ^+ -4.

7- --2

6- 'S
^ -^ + 4C-7-
7-<5 + f5'6-

7- 'U
%- -/

dr-c3 + 2.-7-
4^- / * 3-S-

A- -c3 ;-// + u- 6-

7- -^ 2 -c5 + / 'U'

+ ^- <^ ^ =^- ^5 + 4/-

+ <5-c^ ^-^- ^ + /-
+ /-c3 c? -4^- J +^-

\r.i
2.- S- A + / -

J - 6- 2 +c$"-

+ ^--^ 2-7- 4/ +^-
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/ ^ S ^ c5- ^
1 2 3 4 5 6

6-3 =
4-2 =
7 - 5 -

4+ =
i+ = 4

2 = 3
5 = 7

6-4 =
2-~\ =

5 + =
3+ =.

2+ =

7

4
4 = n.
3 = 7-
1 = r> -

6=1 +
4 = 3 +
5 = 2 +
7 = 4 +

4 + 3 =
2 + 1 =
1 + 5 =
5 + 2 =
3 + 3 =

7-2 =

7-4 =
4-1 =
6-3 =
5 - 2 =

4+ =7 2 = 7-
3 = 6-
2 = 4-
5 = 7-
4 = 7-

2+ =3 + 3 = 7

1+ =6
5+ =2
4+ =6

+ 1 = 7
+ 4 = G

+ 1=6
+ 2 = 3

;
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7 = -A +
6=1 +
5 = 3 +
7 = 'i +
= 3 +

4 = 1 +
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2 = 7

3 = 4

5 = 7

1 = (5

4 = 7

1 = 4

•2 +
3 +
2 +
I +
3 +
4 +

0«*M !•

= 3

= 5

=
= 7

= 7

=

+ 3 = ()

+ I = :>

+ 1 = 4

4- 2 = 5

+ 4 =
+ 5 = 7

7-
5 -
G -
4 -
3-
7-

= 4

= 2

= 1

=
= 3

= I

3-2 =

0-4:
7- 1

5-2
0-3
5 - 1

3 + 2 =
1 + 5 =
2 + 4 =
1 + 3 =
2 + 5 =
3 + 4 =

7-2 =

5 - 1 =

7-7 =

2-1
4-3
7-3

= 2 +
5 = 1 +
7 = 4 +
4 = 2 +
2 = 1 +
5 = 2 +
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8 <f

8 = 4 + 3+ =8 + 6 = 8

8 = 2 + 5 + =8 + 1 = 8

8 = 3 + 1+ =8 + 3 = 8

8 = 6 + 6 + =8 + 2 = 8

8 = 5 + 4+ =8 + 7 = 8

8-1 = 8 = 2 + 8- =2
8-4 = 8 = 5 + 8- =5
8-6:= 8 = 7 + 8- =7
8-7 = 8 = 4 + 8- =3
8-5p. — 8 = 6 + 8- =6

4 = 8-
6 = 8-
1 = 8-
5 = 8-
2 = 8-

2 + =8
5+ =8
7+ =8
6 + =8
3+ =8

+ 1 = 8

+ 5 = 8

+ 2 = 8

+ 6 = 8

+ 7 = 8
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.3 + 5 =
1 + 5 =
4 + 2 =
1+3 =
2-h6 =
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a

8

7

5

8-

6-

4-

= 2

= 4

= 3

= 5

= 3

= 1

4 + 3 =
2-j-6 =
1+5 =
3 + 2 =
5 + 3 =
1 + 7 =

3 +
•"> +
I +
4 +
•2-h

J +

3 = 7

4 =
() = 8

2 = 7
.) = s

3 =

()

H

7

3

4~

7-1 =
4-3 =
8-5 =
6-2 =
5-3 =
7-4 =

S - 2 =
5 - J ==

« - 3 =
7-4 =
6-1 =

+ 6 = 8

+ 1=7
+ 2 = 3

+ 5 = 8

+ 3 = 7

+ 1 = 6

=
8 =
7 =
5 =
8 =
7 =

+ 2

+ 6

+ 3

+ 1

+ 5

+ 2
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8-2 =
8-5 =
8- 1 =
7-3 =
7-5 =
8-8 =

3 = 8-
1=6-
2 = 4-
1=7-
5 = 8-
2 = 8-

6- =4
3- =1
5- =2
b- =6
4- =0
2- =1

3 + 2 =
5 + 3 =
2 + 1 =
6 + 2 =
3 + 4 =
5 + =

— r.+ 3 = 8 4 + =5
+ 1 = 7 1 + = «

— r^+2=4 2+
+ 5 = 7 4 + =8
+ 1=6 3 + =7
+3=4 6+ =8

8-8 =
2-1 =
3-2 =
7-2 =
6-5 =
8-7 =

4 + 3 =
2 + 6 =
1 + 3 =
4 + 2 =
1 + 5 =
2 + 3 =

7 = 2 +
8 = 5 +
6 = 1 +
2 = 1 +
3 = 2 +
5 = 3 +
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•> + 2 =
3 + 1 =
7 + =
+ 2 =

1 + 4 =
3 + 5 =

7-- 1 =
6--4 =
8 --3 =
5--2 =
6 -- 1 =
4-3 =

8~ = 2
6 — = 3
7- = 2
4 — = 1

3 -
1^

= 2
7 — = 4

o = 8 —
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+ 4=:8 3 = 8+2-7 4=8
+ 3 = (,- 1=7.
+ ]

=
. > 2 = (J

;

+4=4 3=5.
+ 2 = 8

8 = 2 +
7 = 5 +
2=1 +
6 = 3 +
8 = 1 +
4 = 3 +

8-2 =
7-3 =
- 1 =

0-4 =
8-3 =
8-7 =
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2 +
1 +
4 +
i +
2 +
3 +

= f)

= 5

= 7

= 8

= 4
= 5

2-2 =
4 + 3 =
7 = 2 +
6~ =3
+ 3 = 8

8 = + 2
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One-half of 8 =
One-Jialf of (i =
One-half of 4 =
One-half of 2 =
3 + 3 =
-2 = 5

8- =2
+ 4 = 6

5

3

2:

= 4 +
= +4
8-
4-

2 is one-half of
4 is one-Jij,If of
1 i« oiie-haJf of
3 is OM(,.haIf of

3 + 4 =
2 + 6 =
1+2 =
2 + 4 =

7

8 :

4:

5 .

= 1 +
:3 +
i +
2 +

7 = 8

2 +
3- :

- 6 =

3

2

1

3 = r, _
-4 = 2
+ 3 = 4

6 = 1-^
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/ 2, S u s ^ 7 ^

/ 1 S 4 s ^ 7 ^

3 + 4 = 8-6 = 4 = 7-
2 + 6 = 7-3 = 2 = 6- 1

1+1 = 5-1 = 3 = 8- f

3 + 5 = 4-4 = 1=6-
7 + 1 = 8 - 5 = 5 = 7 -
2 + 3 = 7-2 = 3 = 4-

4+ = 8 + 2 = 8 8 = 2 +
3+ = 4 + 1=7 7 = 5 +
5+ = 8 + 3 = 5 6 = 3 +
2+ = 7 + 4 = 6 5 = 2 +
1+ = 6 + 5 = 8 8 = 3 +
2+ = 5 + 1 = 5 7 = 4+ 1



Ount

6- :,

2- =
8- -
7- ==

5- _
6- =,

8 = 5 +
7=1 +
2=1 +
5 = 2 +
7 = 3 +
6 = 4 +
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= 4
2
3

4

3

1

8-
7-
8-
4^

5^ _

= 2
= 3

= 5

= 3
= 2
= 2

4 + 3 =
2+ J =
•> + 3 =
2 + 4 =
1+0 =
3 + 3 =

•> - 2 =
4-3 =
6-4 =
7-3 =
8 - 5 =
6--i=,

3 = 7-
4 = 5-
2 = 8-
1=6-
4 = 6-
5 = 8-

7 = H
2=6*
1 = 5.

3 = 5-
4 = 4-
2 = 8-

3 +
2 +
1 +
2 +
3 +
6 +

7 =
8 =
5 =
3 =
2 =
4 =

= 7

= 6

= 1

= 8

= 8

= 7

+ 2

+ 6

+ 2

rf 1

+ 1

+ 3
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One-Jialf of IM

Oiie-foiici, of N is

of 8. i IS
""e-foiiitli of

2 is
of 4.

One-fourtli of 4

One-fourth of

One-fourth of .

One-lialf of 2
One-half „f «

One-half of «

One-half of 4

IS

IS

IS

- '« oiie-foHrth of
- '« oii(!-ha)f of
•^ "« one-half of

' ''^ one-linlf of

' '« one-foiiMli of
^ '« one-half „f
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Add
2 3 () 1 5 3 2 .-<.

4 5 2 3 2 4 3 4

1 2 3 4 1 3 6 3

4 2 2 2 7 5 1 4

4 1 2 I 3 5 2 3

3 6 4 2 3
>

5 2

2 3 3 2 4 1 2 5

3 4 1 5 4 1 6 3

2 2 2 3 1 5 1 2

3 2 4 1 5 2 3 3

1 4 1 3 2 1 2 3

2 2 5 1 4 4 1 1

2 2 1 2 3 1 4 2

2 3 2 4 1 2 2 5



Ottn u
PPBLio

8oir<H>r.
'ARITHMETIC.



3S
PUBUC 8CHm)L ARITHMBTIO.

9

9 = 4 + 9-8 = 3 + =9
9 = 3 + 9 - ') =: 7+ =9
9=1 + 9- <5 = 1 + =9
9 = 2 + 9-2 = :> + = 9

9 = T) + 9-4 :^: 2 + =9

+ 2 = 9 9 - = 4 !) = 3 +
+ (5 = 9 9 — = 7 9=1 +
+ 8 = 9 9 - = 9 = 4 +
+ 3 = 9 9 - = 1 9 = 7 +
+ 5 = 9 9 - = 3 9 = +

4 = 9- 3 + = 9 9= +2
2 = 9- 7 + = 9 9 = +5
8 = 9- 1 + = 9 9 = +0
5 = 9- 5 + = 9 9= +7
3 = 9- 8 + = 9 9= +1
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0-4 =
8-2 =

!)-() =
H - ;i =
i> - r> =

+ 2 = 9

-f 3 = 8

+ I =<;

+ 2 = 8

+ 4 = 7

+ 6 = 9

= fi +
i> = 2 +
7 = 3 +
9 = 1 +
4 = 2 +
9 = 4 +

.i = 7 -
^>* = 9 -
I =8-
4 = 9 _
.3 = 8-
2 = ;3 -

8

7

9

— =2
~ = ')

- =4
;) — -_

9

S

3 + 2 =
fi + 3 =
2+1 =
5 + 3 =
2 + 4 =
1 + 7 =

6-

TIC.

4 +
3 +
I +
<5+ :

2+ =

3+ =

3 = 9 -

2 = (; _
1=9-

i') = 8 -
4 = 6-
7 = 9-

9-2 =
8-4 =
6- J =
3-2 =
9-6 =
8-0 =

37

= })

= 8

= 5

= 9

= ()



38
PUBLIC SCHOOL ARITHMETIC.

9- =3 + 3=8 8 = + 2

7- =2 + 2 = 5 7 = + 1

4- =1 + G = J) () = + 4

8- =4. + 1 = 7 9 = + 5

9- =2 + 3 = 7 8 = + 3

6- =1 + 5 = 9 9 = + 1

9 = 4 + 3 = 5- 2 + = 6

8 = 2 + 7 = 9- 3 + = 9

7 = 5 + 2 = 8- 5 + = 8

9 = 1 + 1 = 5- 1 + = 9

8 = 3 + 3 = 4- 5 + = 7

6 = 1 + 5 = 9- 4 + = 7

3= _4 6= -3 2= -4
5= _3 3= -1 1= -7
2= -2 7= -2 5= -4
1= -3 2= -1 4= -4
4= -5 1 = - i) 3= -5
3_ _2 4= -3 6= -3



Oiua I.

Add

3

4

2

6

'•^BUC SCHOC,.
.HiTHMEno.

2

7

6

3

1

4

3

2

5

2

1

1

2

2
3

3

9-4 =
8-6 =
9-2 =
5-3 =
7-4 =
5-1 =

5

1

8

1

3

4

6

3

2

4

4

4

1

3

4

2

5

2

1

1

4

4

3

2

1

o

5

2

5

2

7 = 2-f-

9 = 3
8 = r,

+

5^-3
4 = 1 +

3

5

3

3

3

3

1

3

2

6

4

5

2

3

4

5

2

2

3 + 5 =
4 + 2 =
2 + 7 =
3 + 6 =
4 + 1 =
2 + 5 =

2

3

8

1

3

3

1

3

5

1
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0»I» 1



<'<IAD« 1.

Pl^BLro SCHOOL ARITHMETTo.

9 3

(3

3 is ono-thiirl of
One-tIjir,I of {) ,-«

Two-thirds of 9 j^

0/;

One-third of 6 is

One-third of 9 is

One-third of 3 is

^'^
of 9

/ ^ s
/ ^ s

J:

2 '« oiie-tliird of
One-thini of 6 is

Tm,-third.s of 6 is

One is one-third of
One-third of 3 is

2 i« one-third of

1 is one-third of

3 is ono-thirfl of

2 '« 6

^ <f ^ / ^ ^
4 c^ / 7 ^ ^



PUBLIC SCHOOL ARITHMETIC.
auMi.

One-third of 9 is

One-half of « is

One-fourth of 8 is

One-half of 4 is

One-third of 6 is

One fourth of 4 is

Add
3
1

2

4

3

2

5

2

1

•2 is one-half of

'2 is one-fourth of

•2 is one-third of

3 is one-half of

3 is one-third of

1 is one-half of

4
2
2

2

6

1

1

3
4

4

1

2

2

1

5

2
3
4

1

2

5

2

3

2

7
1

1

2

3

3

6

1

2

2

4

1

3
3
2

5

3
1

2
2
3
1

2
4
3

3
3
1

1

2

5

1

2

1

2

4

4
2

3

5

2

1

5

2

3
2

2

3

1

5

1

1

4
1

1

2

5

1

3
2

3

4
4
1

3

1

3

1

luan^'.



OUDB ]. ^^UO SCHOOL AHI^H^e.

9-1-1 =

9-3-4^
9-.)-. 3 =
9-1-4=

^-2-3=
8-^-4=
9-l-G=

9 - 2 - 5 ^
3 =

> - 4 =
9 - .3 - ] =^

8-2-2=

9 = 2
8 = 1

+ 3 +
+ 5 +

8-2-1 _ 9=3+4+
7-3-3 = ,^ = 1 + 1 +
^-2^2= ^ ^ 2 + 3 +

^-2^3=
5^-1-4 =
9 - 5 - 2 -
^-1-3=.
9-1-2 =

3 + 5+ ==9

f+l+ =8
1+3+ ^y
2 + 4+ =j,
2 + 5+ =.y
3 + 2+ ==g



PUBLIC 80HWL ARITHMETIC.

+ 1 +
2 + 3 +
1 + 1 +
4 + 1 +
2 + 4 +
1 + 2 +

= 9

= 8

= 6

= 9

= 8

= 7

9=2+3+
8=5+3+
7=1+2+
9=5+3+
6=1+2+
5=2+1+

1+3+2=
4 + 2 + 3 =
3 + 5 + 1 =
2 + 3 + 3 =
4 + 1 + 2 =
5+1+3=

8 •

7-

9

8

6

9

1-3 =

2-4
3-2
1 - 5

2-2
3-1

9-2-4 =

8-1-3:
6-2-3
7 - 4-2
9-4-3
8-5-2

8 =
9 =
7 =
6 =
9 =
8 =

+ 2 + 2

+ 1 + 2

+ 3 + 4

+ 1 + 1

+ 2 + 3

+ 3 + 2



Add
5

1

1

3

2

3

4

1

1

7

1

1

3

1

1

2

Pt^BLIO SCHOOL ARITHMma

2

5

3

1

2

2

3

1

4

3

2

2

2

3

2

4

3

4

2

2

5

6

1

2

3

2

2

1

1

5

1

3

1

3

2

3

4

1

3

1

4

1

2

2

4

3

2

2

5

2

3

1

3

1

5

2

2

1

3

1

4

1

3

3

2

4

2

2

1

5

1

3

2

1

4

2

5

2

1

3

3

3

3

4

2

4

1

4

1

4

2

1

4

2

3

5

1

2

1

2

5

6

2
1

3

1

I

4



PUBLIC SCHOOL ARITHMETIC.

3+ +1=9 7_2-3=
2 + +5 = 8 8-1-2=
1+ +3=7 9 _ 3 - 4 =

4+ +2=9 8 - 4 - 1 =

2+ +1=H 9 _ 2 - o =

3+ +4=9 f) - 1 - 1 =

2+4+1= 9=3+2+
3 + 2 + 2 = 8=1+3+
1+4+3= 7 =± 4 + 2 +
2 + 5 + 2 = 6=2+1+
1+2+3= 5=3+2+
3 + 4 + 2 = 9=3+5+

8= +2+4 9-4+2=
9= +1+1 8-2+3=
7= +3+4 7 - 5 + 4 =

9= +1+4 6-2+5=
8 = +2 + 5 9 - 6 + 4 =

6= +3+2 8-5+2=



Ou» I.

Pt'BUO 8CHC.OL ARlTHMHmc.
47

'^



48 PUBLIC SCHOOL ARITHMETIC.

fL

l(

10

10



"Xua I.

48

/o

\0 = 5 ^
JO = 8

-f-

10 = (; ^
JO = 3

-f-

JO = 2 +

^=10-
^ = \0 ~
7=10-
f>= /O-
^ - 10 -

JO = 2 4-

10 = 7^
JO = I ^
'0 = 4 +
J0 = 3 +

4 + = JO JO - o _
= JO 10 - r _
= Jo \0 - .) __

7 +
= J0 /0-(;^
= J0 /O-.i^

+ 2:
+ 7 =

+ 4 =

= JO /O - _ ,

= J0 /o- ^y
= J0 10- ^.,
= Jo /o- ^-
^JO ,0- ^.5

10 — =
\0 — 9 = 3+ =,0
\0

10.

10-

-3 =

- 8 =

9+ =10
'*+ =10
2+ =10
^-f- =10



POBUO »CHiX>L ARTTHMKTIO.

3 + 6 = H-6 =

2+8= ^-i

3+2= 7-3-
2+7= 9- 1

-

-3 = 6

-1 = 5

-4 = 3

-6 = 4

-2 = 5

-3 = 7

7-
10-
9-
10-
6 -
8-

= 2

= 3

= 4

= 6

= 1

= 3

-1 = 4

-2 = 6

-4 = 5

-5 = 5

-3 = 4

-4 = 2

-3 = 3

-2 = 8

-4 = 4

-1 =
-5 = 4

-3 = 6

4 = 10-
2= 7-
5= H-
()= 9-
3=10-
2= «'

3 = 10 -
7= 9-
2= 10-
5= 8-
3= 7-
4 = 10 -

+ 6 = 10

+ 2 =
+ 5 =
+ 4 =
+ 5 =
+ 2 =

9

8

7

9

6



Add
3

4

3
5

J'UBUC SCHOOL ARITHMW

4

3

2

6

1

2
5

no,

3

I

3

3

4

2
5

5

3

1

4

4

1

1

6

3

3

1

2

T)

3

3

4

2

3

2

1

1

2

6

2

2

3

2

5

1

1

1

1

7

2

4

2

4

4
9

4

3

3

6

3

1

3

2

2

3

2

4

5

4

1

3

3

3

5

2

2

3

6

1

2

3

3

5

2

4

4

3

4

1

5

3

1

2

4

3

5

1

2

2

7

1



63 PUBLIC SCHOOL ARTTHMBTnO.

10

u

5 is what pirt of 10 ?

(.)ne-liiilf of 10 is

4 is one-half of

f) is one-half of

2 is one-half of

1 is one-half of

3 is one-half of

3 is one-thin I of

What part of 10 is 51

What part of 8 is 2 ?

What part of <5 is 21

What part of 9 is 3 ?

One-third of 6 is

Two-thirds of 6 is

One fourth of 8 is

Three-fourths of 8 is

3 is what part of 9?

1 is what part of 3?

4 is of 8.

3 is of 9.

2 is of 6.

5 is of 10.

1 is of 4.

2 is of 4.

10 - one-half of 8 =

10 - one-third of 9 =

10 - one-fourth of 8

10 - one-half of 10 =

One-half of 8 + 3 =

One-third of 9 -i- 5 =

One-fourth of 4 -H 7 =

One-half of 6 -t- 7 =



O^ua 1.

PUBLIC SCHOOL

10-2^3 =

3 + 3 +
6 + 1 +
2 + 4 +
3 + 5 +
1+2 +
2 + 5 +

10 = 3 +
10 = 2 +
10 = 5 +
10 = 4 +
10 = 2 +
10 = 3

= 10

= 10

= 10

= 10

= JO

= 10

+ 3

+ 1

+ 4

+ 4

+ 5
+ +4

^RITHMRTic,

^^ = 2 + 4 +

'^ = 4 + 3 +

^,^ = 2 + :3l
*^> = l+8 +

y>-4-2 =

'^-2-5 =
<* - 1 - 5 =

^« - 4 - 5 =
"> - - 2 =

10 =
10 =
/o =
10 =
fo =
10 =

+ 4 + 3
+ 2+0
+ 1+2

a



u

Subtract

10 9

4 _3

10 8

5 2

7

4

8

PUBUC SCHOOL ARITHMETIC.

9 (

9

6

8 10

6 8

5

8

4

8 10

7

2

9

5

6 10

1 7

10

1

6

10

9

4

7

3

5 10

2 9

7

6

10

8

5

9

2

10

6

10

3

9

8 10 9



Oiuai,

3 + 4-|-2_^

4 + 4-f 2^

PUBUC SCHoni«CHOOI.
-IBITHMETJC.

10-
10-

5-3 =
4-5 =

10 = 3
9 = 2
^-1
8 = 2

10 = 5

9 = 3

+ +1
+ +5
+ +1
+ +3
+ -/-2

+ +1

3 + 2 +
2-f 4 +
4 + 1 +
2 + 3 +
4 + 3 +
1+5 +

66

- 9
- 8
= 10
= 7
= 10
= 10

8~
9-
10-
7-

1-2 =
3-4 =
2-6 =
3-2 =

/-l-7=-
10-

1 =
4-3 =

8 =
7 =

10 =
9 =
8 =
9 =

+ 2 + 3
+ 1+2
+ 3 + 5
+ 1 + 6
+ 4 + J

+ 2 + 2
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IMIBUC SCHOOL AllITHMETlC.

3 = 10-4-
2 = 9 - 1 -
5 = 8-2-
4 = 10-3-
1 = 7-1-
4 = 9-3-

8- 2- =4
9--3- =2
7-.1- =3
10--3- =4
8--3- =3
9-_2- =6

10 --6 + 2 =
8-- 5 + 4 =
6-- 2 + 5 =
9--3 + 4 =
5 -4 + 7 =
10 -8 + 6 =

5 = 10 - 2 -
2= 9-3-
3= 8-2-
1 = 6 - 4 -
2 = 10 - 7 -
4= 9-1-

2+4+4=
1+3+3=
2 + 5 + 3 =
3+2+3=
4+4+2=
2+3+3=

7+2-3=
8+2-7=
3 + 4 - 5 =

6 + 3 - 7 =

3 + 7-4 =

1 + 8 - 6 =

3

4

3

2

2 (



"•Aon I.

times 4
times 2:
times 1 -

times 3 =

times 5 =
times 3 =

= 8
= 10

= 7

9

10

6

times 1=4
times 2= a
times 5 = 5
times 1 =>/
times 3 = 3
times 4 = 4

3 times 2
^ times 5 :

^ times 2 =

^ times 3 =

^ times 1 =
^ times 4 =

87

times 2= a
times I = ^
times 9 = y
times 2 = JO
times 2=4
times 2= ^

times 7=7
times 6 = (;

times 2 = 4
times 1

times 1=3
times 2 = 2

i)

4 times 1

^ times 3

;

^ times 1 :

•' times 2 =

^ times J =
^ times 2=;
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URADB 1-

5 times 1 =
1 times 7 =
2 times 3 =
9 times 1 =
4 times 2 =
1 times 8 =

8 = 2 times

5 = 5 times

6 = 3 times

9 = 3 times

.0 = 2 times

8 = 8 times

4 times = 8

2 times = 10

9 times = 9

3 times = 6

2 times = 6

5 times = 10

3 times 2 =
times 1 =

5 times 2 =
2 times 1 =
1 times 3 =
3 times 3 =

4 = 2 times

10 = 5 times

9 = 9 times

6 = 2 times

7 = 7 times

10 = 1 times

3 times = 9

2 times = 8

7 times = 7

4 times = 8

3 times = 3

8 times =:8



4 t2
3 t 3
2 t :) :

2 t2 =

3t2 =

9 =
8 =
6 =

10 =
4 =
6 =

3f
2t
it
7t
3t
St

t3
t2
t3
t5
t2
t2

= 8

= 8

= 7

= 6

= 8

^2= 4

M= 8
t3=. 9
<f 5 = JO
<^1= 7

^^2=10

4- ti
•^ = if 5
S== t4.

10- <f2

9- t3
^= tl

2t = 6

3^ = 6U = 5
8^ = 8

5^ =10
4^=4

^ 2= 6
1

1

^ 2= 8

^ i= 3
^ 2= 4
^ 1= r,

ri

^ 10 = JO

^ = 3t t'

10 = 5#
4 = 2t
^ = 3t
S = 4t

10 = 2 t

5 f2 =
3tl =
2t4 =
7/1 =
2/5 =
2/3 =



80

One-half of 10 =

One-thinl of 9 =

Onc-fouith of 8 =

One-half of 4 =

One-half of « =

One-third of « =

PUBLIC SCHOOL ARITHMETIC.
Oradr 1.

•2 is one-thinl of

4 is one-half of

5 is one-half of

2 is one-fourth of

1 is one-third of

I is one-fourth of

J

<3 = «

(A= 8

(2= 4

/3 = 9

t\ = '

r2 = io

9 =
10 =
7 =
4 =
« =

t\

to

t1

t2

t2

2 ri =

3t3 =

4/2 =

ot\ =

2<4 =

3r2 =

4«1 =

7t\ =

1 t9 =

3el =

8 = ti lt6 = 2«5 =

8 = 2<

9 = 3t

10 = 2 f

4 = 4t

6 = 2t

8 = 4t

t2 =

(9 =

n =

fi =

ti =

fl =

6

9

8

8

4

10

10 = 1<

7 -7t
6 = 2«

9 = 9<

10 = ot

4 = 2/

St =8
3/ = 3

4« = 8

7< = 7

2< =8
3< = 9

10 - 2t3
8-3t2
9 -2«2
10-4t2
7 - 5n
9 - 3t3

= 9

10

8

10

10

9

- 2t4 =

- 3«3 =

- 1^2 =

- 2to =

-4<2 =

-U7 =

5 < 2 - 6

2M-3
3^3 - 4

2t5 - 8

3f2 - 5

4*2-5



OUu 1.

2. Jane had 10, lolls ^l iHow many l,a,| si.e i^ft
,

'

"^ '""' ""« ""<' fe-ave Mary r,.

4. ^farv-s mother ,,ave I,,,,.., ,

3 + 4 + 2 =

6 + 3+ 1 =

2+1+4 =

3 + 5 + 2 =

1 + « + 2 =

2 + 3 + 3 =

JO - 6 + 2 =

9 - 5 + 6 =

5 - 3 + 7 ^

^ + 2 - 3 =

« + 4 - 2 =

1 + 7-3 =

4 + 6 - 7 =

3 + 5 - 2 =

« + 2 - 3 =

10-2/4 =

«-3/2 =

8- 1

9-4
10-

9 -

+ 3 =

+ 2 =

on =

7 + 5 =

10 - 2/2 =

7- 1/3 =

9-4/2 =

^ + 2 +
2+1 +
1 + 5 +
4 + 3 +

' + I +
2 + 4 +

5/2-3 =

2M-5 =

3/3 - 4 =

2/5 - 1 ^

4/2- 6 =

2/2- 1 =

= 9

= 10

= 9

= 8

= 10

= 10

-.S*"

,^.-



es

____ OUDa I.

PCBLIO SCHOOL ARITHMETIC.

2 apples at 5 conta each would cost

3 pencils at 2 ce.iU «ieli woul.l est

2 aheop at 4 dollars each would coat

4 oranges at 2 cents each wou,d cost

2 pencils at 3 cents each wou d cost

3 hats at 3 dollars each would cost

1. John had 10 cents. He bought 2 marbles at 3

cents each. How much money had he left

2 Mary had 10 cents. She bought 2 bags of pop-

corn at 47ents each. How much money hajl ^.e leftj

3. Ted had 3 marbles. Jim had 4 and Jock 1^1 3^

They gave them all to Tom. He lost 2. How many

had Tom then?

10 cents - 3 times 2 cents =

10 cents - 4 times 2 cents =

10 cents - 3 times 3 cents =

10 cents - 2 times 1 cent -

9 cents - 2 times 2 cents =

9 cents - 7 times 1 cent =

7+2-3=
tt + 4 - 7 =

3 + 5 - 2 =

3 + 7 - 4 =

2 + 8 - 6 =

1+7-3=

10 - 6 + 2 =

8 - 3 + 4 =

9 - 5 + 3 =

10 - 7 + .') =

7 - 2 + 4 =

10 - 5 + 2 =

10 - 2t4 =

8 - 2<3 =

9 - 3*1 =

10 - 2 < 2 :

9 -4<2
10 - 3<3



<!>«» 1.

A.ld

3

4

1

Pl^BUC SCHOOL ARITHMETIC.

3

t3

2

6

3

1

»

2

2

4

3 1

3 2
3

4

2

3
2

«

2

Write in figures .-

^' "• 1. X. III. V. X. II.

-o,fdy^'i;ri^,^--t3,,o,,..e,.,.. „,.,

*• Fred had 9 marblps H„ '.

-'' Jim
,. How „ar;td il^fftT

'''"^ ^^ ^''"" ''

Write in letters

:

'0' I. 2, r,. 3. 10, 2, 5, 10.

3/3 - 2M =
4<2 - 3/1 =
2M - 2/2 =
2/j', - 2/2 =
7M - 3/2 =
3/3 - 6/1 =

10-2/1
8-2/3
9 - 3/3
10- 2/5
J" - 2/2 =

8 - 3/1 =

Write in figures .

V. X, VIII, VI, V. Ill, VII

6 + 4-3
" + 2 - D

10 - 1 - 1 .

10 - 4 - 2 =

3 + 6 - 4 =

7 + 3- 8 =

X. VI.



04 PUBLIC HOMOOL AlUTHMETIO.
OUM 1

Writo in letttMs

:

fl, H. 10, •-', .'•, ". '.

How many »'« in lO?

How many 4'8 in H(

Hiiw many 3's in

How many '2'm in

How many '2's in

How many 3's in

X''.

•if

t\ =

H =

St =

10 =

4 =

5 =

(4)

(•)

(1)

H =

10 =

« =

4 =

8 =

3 =

0)
(H)

0)

4()= 8

•i() = io

3()= «

•i( )= 4

3()= «

5( ) = 10

10 -=- 2 =

« -r 3 =

8 -^ '2 =

4^ -2 =

10 -r 5 =

7 -=- 1 =

H = --i(
)

9 = 3()
10 = -2{ )

4 = 4( )

« = :M )

4 = -2( )

« -f 3 =

-f '2 =

10 -r -2 =

8 •- 4 =

9 -r 1 =

10 T-
"> =

In 9 how many 3'8?

In « bow many '2'h ?

In 8 lii)W many 4's?

In 10 how many *2's?

In 6 how many 3'8?

In 9 how many I'a?

(2)= « (>)= 7

(4)= 8 (3)= «

(-2) = 10 (5) = 10

(3)= 9

(1)= 3

(2)= 8

(1)= 5

(5) = 10 (2)= 4

3 (2) = 2(3) =

4(2) = 4(1) =

5 (-2) = 2(4) =

•2(2) = 2(o) =

r.(i) = I (7) =

3(3) = 3(2) =

4 -r 2 =

5-^5 =

7 -r 1 =

-r « =

8 -r 1 =
2 -=- 2 =

10 -1^

8 -^

6 -r

9 -r

10 -r

8 -r

= 5

= 2

= 3

= 3

= 2

= 4



0*«toi 1.

'> - 10

2 =. .

a =. .

4 » y

'•''HUC HC.H.K.,
AHITHMirrio.

10

10

4

«

8 -

10- n
JO -

« - 10

»-
»- 8 .

10 - 4

^yt i„ t),e signs

10

-
^ 4

I «

y
- = 3

= ")

= I

= 'J

= 'J

= 4

= I

li =

3 =
2 =
3 =

4 =
2 =

2=
4 = N

3 == .,

2= 4

" - 10 .

1 = ft.

8

ft

10

f 2

r 3

- 5 =

'J _

ft =

2 =

4 =

3 =

1 =

2 —
a =

- 2

3

3

3/

2/

4/

U
>/

2/

«-3 + 4 =
'0 - 2 + 3 =
« - 2 + 5 =

'f - 2 + 8 =
10 - 5 + 6 =

= 10 H

= 8 JO .

= « ft ;

= 10 4=1
= 6 H = 2

J" - 10 i •>

» - 4 i J .

'« - 8^4.
«- 3^3 =

a
•)

8

6

10

o

4

4

4

6

10

8

2

10

4

^nte in figures:

^Vrite in letters •-

3

9

4

ft

4

3

3

•>

3

8

ft

3

ft

7

7

3

3

4

r

3

7

8

2

10

ft

•>

1

6

2

3

6

f)

8-IV yx vr„, V, ;x. y„, ;„
'^' ^' '- ». 4, 8, 10.



PUBLIC SCHOOL ARITHMETIO.
OUDI 1.

1 A hen ha.1 9 chickens. 5 were brown, 2 were

l,J:^il the rest were white. How many were

''^*'2'

There were "i bir.ls' nests in a tree, and each '

nest JTeggs in it. How many eg«s were m both

"''^^V A news-boy sold 3 papers at 2 cents each He

.reived a ten ceL piece. How much change should

he return 1
, /. o j. r, _-+2-1-1-6-2 + 0-

3 + 5-2-^4-7-1 =

9 _ G + 2 - 1 -t- 5 - 2 =

6+4-3+2-6+4=
5_.2 + 5-2-1-h4 =

2+4+4-3-4+5=

1. Ella had 10 buttons in a bag. She sewed 3 on

her apron and lost 4. How many were left m the ba^^

2 George had some tin sol.liers. When he pvU

aJin r::^, with 4 soldiers in a row. there were 2

rows. How many soldiers had he i

3 Fred spent 4 cents for candy, 2 cents for gum

1 cent Z a pencil, and had 2 cents left. How much

money had he at first 1
„ , „ *„

4 Helen went to look for eggs. She found 3 nests

with 3 eggs in each. How many eggs .hd she find 1

5 John rode 8 miles on his wheel. Fred rode

half as far. How far did Fred ridel



GRADE TWO



^^"^^



11

11

11

11 :

11 =

11 =

10 +
2 +
« +
« +
3 +
7 +

2= 11 -
r = 11 -
5 = 1 1 _
» = 11 -
1 = 11-
8= 11 _

- 2 - 5
-4-4
-3 _ 6 =

- 7- 1 .

-3-2 =

H - 6 - 4 -

11 - 8+2
11 - 6 + 3
11 - 10 + 2 =

11- 9 + 3 =

11 - 4 + 2 =

11- 7+1 =

P^BUC SCHOOL ARITHMETIC.

1
11 — 5 =
11-4 =
11

11

11

11

- !) =
- 1 =
- 3 =
- 7 =

4 +
•' +
9 +
3 +
7 +
1 +

= 11

= 11

= 11

= 11

= 11

= 11

11

11

11

11 :

11 =

11 =

3

11 -

11 -

11 -

11 -

11 -

11 -

11 =2 + 4 +
11= +7 +
11 = 1 +6 +
11 = o + 3 +
11 =2 + 6 +
11 = 4+3+

11

11

11

11

11

11

4
= 1 + 5 +
= 2 + 8 +
= 3 + 3 +
= 4 + 4 +
= 5 + 2 +
= 1 + 2 +

+ 3

+ H

+ 9

+ 10

+ 4

+ 8

= 6

= 4

= 7

= n

= 5

= 1

+ 4=1,
+ 3=1,
+ 9=1,
+ 1 = ,,

+ 5=1,
+ 8 = 11

3 = 11 -
9= 11 -
4= 11 -
6= 11 -
10= 11 _
7= 11 -

11

11

11

U -

11 -

11 -

11

11

11

11 .

11 -

11 .

o t2
3/3 :

4/2 =

3/2 =

- 2t'2 =

- 2/5 =

- 2/4 =
- 1 /3 =
- 7/1 =
3/2 =
4/1 =
5/2 =



PUBLIC SCHOOL ARITHMETIC.

Fredhadnpeneil. HeU.stl HetWgave

half of wliat he ha<l
one

(lid his sister get?

left to his sister. How many

1 H.iw many marbles had he left?

4 \ mn ha.1 U horses. He has 2 Innders w,th

4 ho sef on each at work in the field. The rest are m

the pasture. How ma,»y are in the pastme?

6

Writeinletters:-5, 7, 3, 9, -2, 10,4,6. 1,8.

Add
4
3
•2

3

6

1

6

3

1

4

3

4

•2

2

7

1

7
•)

7

2
i")

4

o

3

3

3

5

3

I

6

4

7

2

1

5

1

5

3

1

4

3

2
6

2

6

I _ 6 + 2 =

il - 8 + 7 =

10 - 4 + 5 =

9 - « + 2 =

10 - 8 + 6 =

II -« + 4 =

8 +
2 +
5 +
1 +
6 +
.2 +

8
3 - 6 =

8 - 4 =

4- 3 :

10-7
5-3
6-0

2 + 3 + 5 =

8 - 1 - 3 :

4 + 5 + 2 ^

3 + 8-7
11-6 + 4

8 + 2-5

12

12

12 .

12 =



OlADI 2,

4 + . J-^' =

^ + « + 3 - 4 ,

,
- + -J + 2 =
**- + « =

'• John hail 11 .
^°

.
•'• It pens oosf •>

-'.Heen.. "" ^^"'--'-
'-..,„.,.,

„„^
^"'e in fijfures . ^^

'2 = 6 +
1:^ = 8 +
'2 = 2 +
12 = 5 +
'2 = 9 +
'2 = 4 +

12-7 =
12- 10 =
12- 1 ^
12-8 =
12-5 =
12-3 =

12

12

12 :

12 =

12 =

12 =

12 =

+ 3

+ 7

+ 9

+ 4

+ 2

+ 6

12

12 -

12 -

1-J -

12 -

12 -

= 3

= 8

= 5

= 2
= 9

= 1



70

12 =

12 =

12 =

12 =

12 =

12 =

3<
6 t

it
1 (

2<
12 <

PUBLIC SCHOOL ARITHMETIC.

13

•2t

it
6<
12 t

3«
1 t

= 12

= 12

= 12

= 12

= 12

= 12

12 H

12 -

12

12

12

12

12 -r

12 V

12 -r

12 -r

12 ^

12 -r

4 =

(> =

3 =

1 =

2 =

12 =

2 +
5 +
3 +
7 +
8 +
10 +

12 - 3 - -1 =

12 - 8 - 3 =

12 - 2 - 3 =

12 - 4 - 5 =

12 - 4 - 2 =

12 _ 7 - 4 =

12 - 2 / 3 =

12 - 3 / 4 =

12 - 5 < 2 =

12 - 3 / 3 =

12 - 2 / 2 =

12 - 4 / 2 =

14

3

6

1

4

12

2

12

12

: 12

= 12

= 12

= 12

2 = 12

4 = 12

1 = 12

B = 12

3- 12

/ 12 - 12

3 =

7 =

1

«

8

5

15

12 = 2 + 4 +

12 = 3 + 6 +

12 = 5 + 3 +

12 = 2 + 8 +

12 = 3 + 2 +

12 = 4 + 4 +

16

12 - 6 - 3 =

12 - 8 - 2 =

12 - 12 ^ 4 =

12 _ 10 - 2 =

12 - 7 - 1 =

12- 9-3 =

12 -

12 -

12 -

-. 12 -

= 12 -

= 12 -

4 = 12 ^

« = 12 ^

1 = 12 -

2 = 12

12 = 12

3 = 12

3 + 7 + =

2 + 5 + =

1 + 3 + =

6 + » + =

2 + 2 + =

5 + 4+ =

12

12

12

12

12

12

12= 8 + 2 +

12= 9 + 3 +

12 = 10 + 2 +

12 = 12 + 3 +

12 = 12 + 2 +

12= 8 + 4 +



""n t.

17

^- John had lo

*^"a get ?
"*"

'^'"'e «„,, ^,, * ««'' <J«v,de,J ti.e

* Bob se/Js 1 I

• ''' '. 3, J I.

^"e-halfafoot.
«"-third of a fo„, ^
^"-fourth of H foot -

19

'c-uil

Add ' '""-' '' - foot ?

1 4
'

'

One-half of « ^
^^(^-fifth of ,0 =
One-third of 9 ^

I

2

H
3

J

5

4

4

4

3

2

7

1

4

2

3



7»
PUBUC SCHOOL ARITHMKTIC.

Oradb 2

12

How I), .ny «'« i" 1'-^ •

How many 3's in <» f

How many :Vs in two tVs ?

How many S's in I'i 1

6 is what part of 1'-2?

;} is what part of « ?

3 is what part of 121

One-fourth is what part ol

one-hain

1 TI.. iriive his brother one-

third of them. How many clul Mary fctl

.

Ind Jennie left ?

3 Bessie h.l 12 cents. She bought 2 c>„u.«es

5 cents each. H-.w many cents ha.l she left .

How many «'» in 12

1

How many 2's in (> 1

How many 2's in two (5's ?

How many 2's in 12?

($ is what part of 12!

2 is what part of tt ?

2 is what part of 12

1

One-sixth is what pirt of

one-half?



0«,i), I,

12- 4 __

1« - 2 -.
I ^

""Of-
ARITHMETIC.

On

J =

11 -
12-
10 -
12 ~

;j / 2 =

'0- i/r-
li -

'1=4-1.-

,.;'
- ^ + 3 +

-' = 3 + 5 +

'^ = 3 + 4 +

3 y

? ' '

8

3

I

2
6

3

7

2 / 5 + , ^

*'-^ + 4.
3 / 3 + .> _

" / 2 + :> ^

^2 +

10 -^ .J ^

1:^-3-^
lJ-2-
10- ,_
12 - 4 _

11 -3-
25

= 3
= 2
-

1

4

8

2

1

o

5

2

•5 2
1 •

° 3

3 + 2 + 5
' +4 + 3,

f
+ 2} + 4 ,

•' + ' + 3 =
-' + :.' + .5 =
3 + •* + 2 =

" — 2 + f.>

^ 12 ^ « .

"

" -^ 1 + «

' ^ " + 8 +

+ 2

^ 2 :

- 3 =

2 =

3 =

4 =

fi / 2
2/5 .

3/4 -

2/3 ^

i / 3 -.

^ * 2
' ^ 2

4

6

= 4

= 3

= 7

= I

= 2
= 9

4

5

3

4

4

73



T4
PUBLIC SCHtx.L AKITHMBTIC.

auMS.

of

26

1. Hi)W niimy (iimrtH in V2 pinU?

•2. How imuiy (lays in 1 week an.l 4 (layH •

a. How ninny inches in one-lialf a fcnit

!

4. How many ogj,'H in a dow^n
.

, ,

5. How many e>{j;s in one-fo«rtl. ot a .lo/.en ?

«. A lK,y Im.l a .lozon c«K«- »« l"'"'"' ""*'

tliem. How many had ho left*

sixth

i:j =

13 =

i:{ =

13 =

13 =

13 =

13 -

13 -

13

13

13

13

13

13

13

13

13

13

tJ +
3 +
5 +
7 +
U +
» +

13 - 7 =

13 - » =

13 - -i =

13 - « =

13 - 4 =

13 - H =

4

7

2

l(»

5

13 =

13 =

13 =

13 =

13 =

13 =

+
+
+
+
+
+

27
:> = 13 -

10 = 13 -

I = 13 -

4 = 13 -

7 = 13 -

S» = 13 -

28
4 + =

H + =

II + =

I + =

7 + =

.') + =

13 - -2

13 - »

13 - 7

13 - i')

13 - 11

13 - «

13

13

13

13

13

13

+
+
+
+
+
+

« =

10 =

=

2 =

5 =

7 =

- 1
-

- 4 -

- « -

- 8 -

- 3 - 4

_ •> _ 2

2

4

3

•i

29
i:j = 2 + 6 +
13 = 5 + 4 +
13 = 7 + -2 +

13 = I + 3 +

13 = 2 + n +

13 = 4 + 4 +

3 + 7 +
5 + 4 +
tt + i> +
5 + 7 +
2 + 3 +
3 + 3 +

13

13

13

13

13

13

= i;

= 1

= 1

= 1

= 1

- 1



'3-2/r.

'3-4/2.
'3 - - / « .

'3-4/;,.
'3- l/7»

"""'• AR'THMKTro.

30

13 - 10 ^fj^
1^ ~ u =

'-' ^ :j J
!' ^ » =

rs

13 -
13

13 -

13 -

13 =

13 =

13 =

13 =
13 =
13 =

H

10

iL' -

10 ^

31

- -» +
' •-! +
4 +
i +

5 +

' '" ''iiii, ;{

* "ow- iimny ha.) H. .
'""' 3.

to iVed ir
'3 t-Juckens ii;'^IW.,,,,,^,,,^^;- He.,,,,,

•' A niHIJ Jj ,1 n .

3 + 6 + 4 ,
- + ? + 2 =
' +3+ 7 =
' + 3 + 4 ,
+ 4 + 6 ^

- + 3 + 7 »

3a
13 - 2 - « ^
'-' - 5 - 3 =
'1 -2-

I ^
10 - 3 _ >> ^
13 - 4 - 2 r

5 + 1 +
« + 2 +
1 + 3 +
3 + o +
2 + 3 +
I + 6 +

= 13

= 12

= {»

= 13

= 12

= 11
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„ PUBUO SCHOOL ARITHMETIC.
°""'

33

13-6-2 + 4-3 =

7+4-5+7-8=
4+5+3-2-4=

11 _ 3 - 3 + 5 - 2 =

6+7-9+7+1=
5+8-7-2+9=

34

Writeinletters:-6, 8, to, 7, 12,9.13,4,11.

Write m figures :_IV, XIII, VI. IX, VIII, II, VIL

XII, III, X, IV, XIII.

13 - 4 -

13 - 2 -

12 - 1 -

11 -2 -

13 - 6 -

12 - 3 -

6

4

5

: 2

: 5

= 7

6 + 7 - 4 =

8 + 3 - 6 =

9 + 4 - 7 =

5 + 7 - 3 =

4 + 8 - 5 =

6 + 5 -2 =

35

3r2 +
2ti + ^

3<3 +
3*2 +
4r2 +
2*6 +

36

13 - 4(2 =

12 - 2<6 ^

13 - 2 ri

11 - 3*3

13 - 3 (

2

12 - 1«7

= 13

= 12

= 13

= 10

= 11

= 13

8 + 2 +
6 + 3 +
12 + 2 +
10 + 2 +
9 + 3 +
12 + 3 +

13 -

12 -

13 -

11 -

8 +
9 +
7 +
8 +

= 13

= 10

= 11

= i:i

= \-2

= 13

2

6

4

10

13 - 11 +
10 - 4 +



0»An 2.

Add
8

2
3

5

2
1

2
4
6

3

6

3

7

5

1

2
7

4

2
4
5

37
3

3

4

i7

4
3
6

3
4
2

^ 7 o
~

°
i 8 9

14 =
14 =
14 =
14 =
14 =
14 =

3 +
5 +
7 +
6 +

10 +
9 +

8 +
2 +

11 +
5 +
7 +
6 +

= 14

= 14

= 14

= 14

' 14

14

38

5

3
5

5

5

3

2
7

3

3
4
4

7=14-
3= 14-

12 = 14 _
1 = ]4-
5 = 14 -
8= 14-

2 + 6+ .

3 + 8+ _

6 + 4+ ,
1 + 6 + ^
3 + 5 +
5 + 4 +

14

14

14 .

14-

14 -

14-

= 14

= 14

= 14

= 14

= 14

14

= 9

= II

= 1

39

14-7 =
14 - 2 -
14- 9^
14-11 =
14- 1 =
14 - 12 =

6

2

7

+ r =
+ 5 =
+ 1 =
+ 11

+ 9

+ 8

40
'4 = 3 + 3 +
'^-1 + 7;
'4 = 2 + 8 ^.

14 = 5 + 4 +
14=1+3 +
^"^ = 2 + 2 +

14

14

14

14

14

14

14

14

14 -

14 -

14 -

14 -

14 =
14 =
14 =
14 =
14 =
14 =

=
= 3

~ =5
= 2

- = 8

= 9

+ 10

+ 2

+ 9

+ 6

+ 7

+ 1

14- 1

14-2
14 -3 .

14 - 2 -

14-3 -

14- 6 -

- 6 =
- 7 =
4 =

• 2 =
5 =
5 =



78 PUBLIC SCHOOL ARITHMETIC.

41

14 V 2 = 2* = 14 -- 2 = 6

1-2 -r 3 = 3/ = 9 --3 = 2

10 ^ 2 = 4/ = 12 --4 = 3

14 -^ 7 = 5^ = 10 -- 7 = 2

12 -r 6 = 7/ = 14 -r 2 = 6

12

rid

H- 4 = 3t

42

6 r 2 = 7

8 7 6 3 3 3 3 2 5

2 5 4 5 4 4 7 4 6

3 2 4 3 6 7 2 8 3

i 4 6 3 3 5 2 3 8

2 4 2 3 9 3 6 1 4

4 5 6 5 2 4 5 6 1

43
2

2 How many 2's in 10?

10 2 How many 2'8 in 4?

2 How many 2's in 10 and 4?

14 2 How many 2's in 14?

f2
2 is what part of 14 ^

One-half of 14 =

One-seventh of 14 =

One-sixth of 12 =

One-fourth of 8 =

One-third of 12 =

One-fourth of 4 =

One-half of 10 =

One-fifth of 10 =



'4-2/5
'4-3/4.
'4 -2/3 =

'4- 4/2 =
'4 - 6/2 =
^4- 3/3 =

3 + 6 + 4^
2+8+3=
4+7+3,
^+4+5=
2+i+7=
3+8+2=

44
2'7-3 =
6/2- 4 _
2/5- 7 r
^'2-5;
4/3-9^

46
13 = 6^4^

;;
- 1 + 3 +

'4 = 5 + 4^
;f=2+e:^^=3 + 2 +

7»

^4 cents - 9 / ? „
^4 cents - 3 / 4 „
14 „ ,

4 cents =^4 cents - 4 / o „^ ' 'i cents =

'4 - 14 ^ 2
'4- sig-
'4- sis
'4 - 10 ; .;

~

^^ - '2 + 2 J

f-2-5=^2-6-4
n-5-.3:

^^ - 3 - 4 ^

46

'4-6-
'3-7-

,11-2-
12 - 3 _
14-7-
13 - 4 _

= 3
= 4
= 5

= 4

= 5

6

47
14 = 2/4 +
11 =2/2 +
13 = 3/4 +
14 = 2/7 +
12 = 3/3 +
14 = 5/2 +

14 cents - 2 / /?

14 „ ,
""^ cents

^4 cents - « / ..

14 '2 cents
14 cents -3,0

** ' 3 cents =

14-2 +
6 + 3 +

12 + 2 +
14 + 7 +
10 + 2 +
8 + 2 +

= J3

= 11

= 14

= 10

= 13

= 12



80

14 = 6 + 2 +

13 = f) + 4 +
10 = 2 + 2 +
14 = 4 + ") +

12 = (5 + 2 +

13 = 3 + 2 +

PIBLIC SCHOOL ARITHMETIC.
OlAH S.

48

7/2 ^'3

2 < - -^

2<7 - '

5/2-2/2
3M - :i«2

7(2-2/7

40

3 + 6 + 5 =

8 - 3 + 4

14 - « - 3

7+4-2
8 + 5-9
7-3 + 6

1 Jennie ha.l 14 apples. She ate 6 and divided

the rest equally anu.ng 4 girls. How many d,d she

give each girl ?

2. I had 14 cents. I bought 3 pencils at 3 cents

each. How much had I left?

3. Ned had 14 cents. He spent 3 cents for candy^

Then he bought 4 marbles at 2 cents each. How

much money had he left?

4 Mary had 14 oranges. She gave her sister

one-sev.nth of all she had. Then she gave ber mother

onellt of wlat she had left. How many d.d Mary

have left?

50
15 = 6 +

8 +
() +

11 +
5 +
3 +
9 +

= 15

= 15

= 15

= 15

= 15

= 15

15 - 10 =

4 -

6 =
15 -

15 -

15 -

15 -

15 -

/ =

9 =

15 = 5 +

15 = 7 +
15 =11 +
15 = 3 +
15 = 9 +

15 -

15 -

15 -

15 -

15 -

16 -

= 12

= 8

= 41

= 14

= el

= tI



«>iM I,

4=15-

10
15

15

15

15 6-3 =
^^ - 3 - 4 _

15 -
Jw - 2 -
15 ~

3-r =

4-4 =

15 = 7
15 = 3
15 =
15 =
15

+ 2t
+ St

1 +2/
+ 5/

15 = 6

9 + 3i

+ 2t

Bow
How
How
Ho

many i

many 2

15 ^ 3 =
15 ^ 5 =
14 -^ 2-
l:i^6 =

3/ =,

4/ =
12

= 8
5/ == li

14

10
7 =
5 =

15 =
15 =

it =
3/

= 14

3/ =

815 =
IS =
15 = r

62
2+7 +
9 + 3 +
^ + 8 +
+ 6 +

15

14 -I-

12 -

JO +
14 -=.

15 +

7+7
3 + 9 + ^
+ 3 + =

4 + 3
+ 4 + ^

+ a +
+ 6

15-2
15-3
15 - 9 .

63
6-3 =

5 =

7+5
+ =

o + =

81

= 7

= 2
= 3
= 2
= 2
= 5

= 15

15

1."

15

15

la

15

How
How
How
How

many 3
•nany 4
niany 5
many 6
many 7
many g

s in 15 ?

's in 15?
's in 15?
s in 15?

5's in 15/
's in 15 ?

's in 15?
s in 15?

5 =
2 =

3 - r =
2-5 =

64

15

15
3+ =

12 + 2
14

10 ~
8 ~

+
+ = l;;

7 + =
2+ =
2+ =

15

15

15

15

15

15

How
How
Ho
Ho
H

many 9

any 10m

low

How
How

many i]

many 12

many jg'

many 14.

many 1

s in 15?

s in 15 ?

'« in 15?
s in 15?
s in 15?

'« in 15?
OS in 15?
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66

uum s.

S + 6 + =15 IS -2 - 3 = 3 + 4 + 5 =

5 + 4 + =15 15 - 4 - 2 = 5 + « + 4 =

1 + 1 + =15 K - 6 - 7 = 8 + 6 + 1 =

3 + 4 + =15 li". - 8 - 4 = 2 + 5 + 8 =

2 + 8 + =15 H) - 7 - 8 = 1 + 3 + 7 =

e + 2 + =15 15 - 3 - 6 = 2 + 5 + « =

66

15 + 3 + 14 -r 2 = 14 - 15 + 3 = .-) / 3 - = 4

l._> -^ 4 + 15 -=- 5 = 15 - 12 + 2 = 2 / « - = *t

8 -r 2 + 10 -r 2 = 13 - 14 + 2 = 3/5 - = 6

9 + 3 + 12 + 3 = 12 - 15 + 5 = 2/7 - = 5

15 -7- 5 + 14 -r 7 = 13 - 12 + 3 = 3 / 4 - = 7

6 + 2 + 12 -=-6 = 15 - 6 + 2 =

57

6 / 2 - = 9

How many weeks in 15 days?

How many yards in 15 inches?

How many quarts in 15 pints?

How many inches in 1 foot and 2 inches?

How many days in 1 week and 6 days?

How many feet in 4 yards and 2 feet?

How many pints in 5 quarts and 1 pmt

!

How many eggs in 1 dozen and 3 eggs?

58

3/2 + =14 -3-4=6 + 2 + 6 = 15

4/3 + =15 -7-2=5 + 1 + 5 = 9

2/2 + =11
3/4+ =13
2/3 + =15
4/2+ =14

-4-7=4
-6-7=2
-5-9=1
-2-3=8

+ 3 + 9 =

+ 4 + 7 =

+ 6 + 3 =

+ 2 + 2 =

14

15

15

13



0.10,1

I"

I I'
ir> '

•'}

60

.^""^ -"any .r, ,„ , ,

"""^ many
3's ,„ «

'

./'"«'
(•^

9?

^n^-third of 15
^ne-s/xtj, of 12
One-fourth of 8
One-third of ]^>

One-fifth of ,o~

One-fifth of 15

;V^
""«' p-t Of

;

'
'^ '^''^t part of Jr' '« -^«t pan o,

;

+ one-half of 14
+ one-fifth of 15 !
+ «ne-seve„th

of 14
+ one-half of 14 ^
+ «ne-fourth of 12^ «ne-thiixJ of 15 /
eo^"te in fi^
^0

'• '5, 6,
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61

Put in the signs:

• 16

4

«

14

9

8

7

3

8

13

11

7

11

3

tt

4

6

Put in the signs:

6

13
•2

2

8

10

•2

5

3

6

3

4

ir>

10

3

3

11

2

8

9

15

14

4

7

5

4

5

15

4

II

15

8

3

7

62

8

5

12

1

4

1

63

6

3

«

13

5

2

2

12

7

4

9

14

7

8

12

12

8

4

6

2

4

11

8

12

6

10

3

3

2

9

3

5

11

7

13

2

13

2

4

9

Iti

13

9

3

7

4

5

«

1. Mary had 15 oranges. She gave Jane 6 and

Eva 7. How many had she left ?

2. John had 4 marbles. He bought 7. His brother

gave him 3. How many marbles had he 1

3. A boy had 15 apples. He gave 2 to e^h of

6 girls. How many did he have left?

4. Jennie bought a hat for 4 dollars, a coat fori

5 dollars, a pair of shoes for 3 do krs. Ho- much]

money had she left, if she had 15 dollars at first?



OUMl

«fi

'^""'''"'
tJ.e rest r "'•«"^-«-

J/

many 4-^

a is ,vj,..f
* '" '«?

;;^one-fourthof
* « one-half of

; « one-fifth of
" .'s one-half of
^ '« one-third of

;|i



PUBLIC SCH<M)l, ARITHMETIC,

66

Ono-fourth of 1« + one-thinl of 15

Ono-half of 14 + one-fifth t)f 15 -

One-eighth of 1« -^ one-thiitl of 12

One-thml of » -f one-sixth of 12 =

One-lmlf of IH -(- one-fourth of H =

One-thinl of 12 -t- one-fourth t)f 1«

l« = 10 -f

1» = H -t-

16 = ft -^

itt = 14 -h

16 = 11 -I-

16 = 3 -^

;-) = 16 -

8 = 16 -

12 = Hi -

7 = 16 -

4 = 16 -

11 = 16 -

3t» +

16 - 7 =

16 - 12 =

16 - 6 =

16 - ft =

16 - 8 =

16 - 5 =

66
:j +
15 +

ft +
2 +
7 +
10 +

67

+ 2 = 16 16

+ 6 = 16 16

+ 9 = 16 16

-(. 11 = 16

16 16 -^ 8 -

16 16 V 4 =

16 16 -r 2 =

16 16 f 16 =

16 16 V 3 =

: 16 16 -=- 2 =

= 4 16 -r 2 =

=7 16 - ft =

=11 16 = 4t

+ 13 = 16

+ 1 = 16 16 -

Itt - =14 10 ^

l(j _ =19 16 = 5 +
1 10 -1- 16

16

68
16 - 2M = 16 _ 8 -I- 3 =

16 - 10 -^ 5 =
4,3+ =16 l6-3<3 =

2,3+ =16 16-5f3= ^^-/^"^2:
3<4+ =16 16-2t2 =

2,5-1- = le 16-4«4 =

3,3+ =16 16-2f8 =

16 - 13 -I- 8 =

16 - 11 -^ ft =

16 - 7 -I- 5 =



'8 - 15 .
'« - 14 :
16 - ,2 ^

^« - 16 ^

4

3 .

2.
3.
2,
2«.

'™""—
»m„^„.

16 =
16 .
16 «
16 «
16 .

16

16

18

16.

16.

16 -

4 +
2 +
6 +
7 +
8 +

i^ " 12 +

JoTT many

S°^ many

S°'' ""any
^o'^ many
^^^ many

S°^ many
^o'^ many
^o"' many

2/

7e

2t
nt
4/

2/

3 + «

5+7
» + 5
4 + 5
3 + fl

'3-6 =
7+9 =
5 ' 3 =

[8 + 6 =

^'s in Jdj
-^8 in la ?

3's in 18 ?

4's ii, jg

;

5s in iQi
9's in jg .^

's in je

?

«'8 in 16 J

+
+
+
+
+
+

71

69
-«-4-
~ 4 - 5 .
- 3 - 2 =4-;»
-' - 6 .
3-9,
70

- 16

= 16

" 16

« 16

= 16
= 16

' * " 4 + » +
° " 3 + o ^

'«»2^;-'

^«"'7+2:

^«-i4 + 2
'8 = 15 i 5
^« =• So'
'«-i6:|:
'«=»i6.,':

5 + 9 =
2/7,

^s + sT
^0 + 6 =
^2-9 =
^6-9 =

«ow „,«„;/«; .'"16?

«o'-manyi2'«-"''^

,«««'ma"//4.\'«i8?
^"'^ many IV .'"^«?

^o'- many ,«.'.'"'«?

2/ 8 =
^5-9 =

^^ =12
-7= 9
/ 6 =. 12

3 =
r =
8 =

10 =
6 =
8 =

-4
- 9
- 3
- 6
- 7

-5



PUBLIC SCHOOL ARITHMETIC.

7 = 4

9 = 5

8 = 7

11 = 3

12 = 4

11 = 5

t 4 =

6 t

- 7 =

8 + =
H- 3 =

12 ^ =

73
8

12

5

14

5

3

11 +
- 3

5 (

^ 4

9 + 6

- 7

= 16

= B

= 15

= 4

= 9

- 8

4 +
8

16

+ 9 = 15

3 / =
- 4 =

15

11

-r2= 7

74

One-half of a pound = ounces.

One-fourth of a pound = ounces.

One-eighth of a pound = ounces.

alhSof a pound and 6 ounces are how many ounces^

What part of a pound are 4 ounces?

I pound - 9 ounces =

7 ounces + one-half of a pound =

II ounces - one-half of a pound =

' '°sl-^;r:;u„. „r ™» ^ ^.v. », 5

onnce. How many ounces of nutt had Jack left I

'!
I ? I

'!
I 3

'. ^s

J 6 6 3 6 4 ? '. t

3

2
7

4

3

5

3

4

2
4

2

6

5

3

2

6

3

2
4

1

5

4
6

3

3
2
7

7

3

4
2
3
4

4
9

3

6

2

5

9

2



OUDI J.

4 + 5 + 2

^' + 1 + r =

^ + 9 + 2 -

5+6+3^

76
15 = 7 +
i« = 4 +
14 = 5 +
la = 8 +
16 = 3 +
15 = 2 +

Count by 2's to 16

*^«»nt hy ^s to i?

+ 2

+ r

+ 8

+ 7

+ 4

+ 6

77

16 - 3 - 2 =
15 - 1 _ 7 ^
13 - 4 _ 4 ^
^6-4-3 =
;4 ~ r - 2 =
15 - 5 _ 3 ^

5:°""' by 5s to 15
<^«»°t by 7'8 to 14.'

"J ^s CO 15
^°""t by 3's to 1J

8 + 7- 9 , -

4 + 8-3 .^

16 - 4 - 3 , :
"^

6
=

'« - « + 7 - .. '
-

„ ^- ^aiy had tbreP fi

''^

"i Jim took r^i* "«8« » a ba<*„ , .



90 PUBLIC SCHOOL ARITHMETIC. Oradb 2.

4. A newsboy sold 3 papers at 4 cents each and

received three five cents pieces. How much change

should he return?

5. If molasses is 16 cents a quart, how much will

1 pint cost?

6. Sixteen boys started to run around a block, but

only 9 of them finished. How many dropped out?

7. Jennie is 6 years old. Mary is 8 years older

than Jennie. How old is Mary?

8. At 2 dollars a day, how much can a man earn

in one week?

9. Jack nailed 4 boards on a fence. He puts 4

nails into each board. How many nails did he use?

BO

17 - 7 = 17 - 9 = 17 = 4 + 17- = 7

17 - 13 = 17 - 11 = 17 = 7 + 17 - =11

17 - 5 = 17 - 13 = 17 = 5 + 17 - =

17 - 2 = 17 - 16 = 17 = 6 + 17 - = 4

17 - 4 = 17 - 15 = 17 = 3 + 17 - =13

17 - 1 = 17 - 12 = 17 =

81

2 + 17- = 8

3 = 17 - + 16 = 17 8 + = 17 7 = 17 -

6 = 17 - + 7 = 17 15 + = 17 8 = 17 -

4 = 17 - + 9 = 17 6 + = 17 1 = 17 -

10 = 17 - + 11 = 17 12 + = 17 13 = 17 -

5 = 17 - + 18 = 17 3 + = 17 9 = 17 -

2 = 17 = + 6 = 17 7 + = 17 15 = 17 -



3 + 5 +
« + 8 +
o + 4 +
8 + 3+ .

2 + 3+ =

4 + 4 + =

17 = 4/4 +
17 = 3/2 +
17 = 8/2 +
17 = 2/4 +
17 = 2/6 +
17 = 3/3 +

= 17

= 17

= 17
-- 17

17

17

8a
17-4-
17-3-

ll~ 2-10 =
17 - 13 - 2
17- 8-

n

6 =
4 =
4 =

9 =

83

?!
- ^6 + 8

II
- 15 + 3 ,

17 - 16 + 4 .

17-14^2 =

J!
- 12 + 3 =

^5^ - 15 + 5 =

84

17 =
17 =

4 + 6 +

17=10+,^
17^ 5 + 4^.

1 + 7 +
17 =

^''=11+3 +

8+ 9-3
7+ 6-4.
»+ 7-5:
4 + 13 - 8 =

f+ 8-9=
11+ 5 - 8 =

H«^ 'nany pounds i„ ^7 „,How many y.^d^ ^^ °"nces?
J' yards m 17 f„^ „

How many feef ,„ ? ^^ '^^J'^?

»»".4ir, It.:?''"'"»"• "ony pu,„ i„
,„' •»<' * inchesf

«°" -^ P'- .-. . ^^t/,"^-;



PUBLIC SCHOOL ARITHMETIC.

17 = 5 + 2<

17 = 7 + at

17 = 3 + 2<

17 = 2 + 3<

17 = 8 + 3«

17 = 1 + 4«

17

17

17

17

17

86

12 ^ 2 +
15 ^ 3 +
16 4- 8 +
12 -e- 3 +
14 -=- 2 +

17 = 9 -r 3 +

14 - 7 + 6 =

13 - 9 + 4 =

17 _ 8 + :> =

17 - 11 + 3 =

11 - 9 + 7 =

13 - 6 + 5 =

Add
6

4

7

9

5

3

86

8 7

5 4

4 3

How ma • I's in 17 ?

How many 2's in 17 ?

How many S's in 17?

How many 4's in 17 ?

How many 5's in 171

How many 6's in 17?

How many 7's in 17?

How many 8's in 17 ?

How many 9's in 17 ^

87

3 8 3 4 5 4 4 2 3

2 4 4 5 3 5 3 4 4

4 3 6 4 6 3 5 6 8

6 2 4 3 2 5 1 5 1

How many lO's in 17 ;

How many ll's in 17?

How many r2's in 17 ?

How many 13's in 17?

How many 14's in 17 ?

How many 15's in 17 ?

How many 16's in 17 ?

How many 17's in 17?



Ouni.

Subtract •

9 7

15

S

17

13

88

17

11

as

12

13

9

ir

3

16

5

f°™ '7 takeaway.^,,
"~ ^ ^

1. I had 17
®®

5 4 ""

,2
Wes a„7:o!?'4 If t"'^'«

"^ berries h^^ets had he left
/"^'^'^ ^' -oh ho„t n'or^

*°

«'"6. Should crCr'"'' ^" "»- iors



PUBUO SCHOOL ARITHMETIC. Oiui t.

00
8 + 9 - 6 - 4 + 9 - 8 + 6 - 5 =

11-7 + 5 + 8-13 + 9 - 6 + 10 =

6 + 5 - 9 + 15 - 8 - 3 + 11 - 4 =

14-8 + 3+ 8- 5 - 7 + 9 - 6 =

9 + 7 - 5 - 8 + 14

91

- 10 + 8 - 9 =

18 = 10 + 18 = 3 + 18 - 6 = 18 = 2t
18 = 9 + 18 = 7 + 18 - 8 = 18 = Qt
18 = 14 + 18 = 5 + 18 - 1 = 18 = It
18 = 16 + 18 = 8 + 18 - 4 = 18 = 9/
18 = 17 + 18 = 4 + 18 - 5 = 18 = 3/
18 = 13 + 18 = 9 +

92

18 - 7 = 18 = 18 t

13 + =18 18 - =16 + 6 = 18 18 -- 9 =
16 + =18 18 - =3 + 7 = 18 18 -- 3 =
11 + =18 18 - =10 + 12 = 18 18 -- 1 =
12 + =18 18 - =4 + 9 = 18 18 -- 2 =
15 + =18 18 - =11 + 16 = 18 18 -- 6 =
10 + =18 18 - =9

93

+ 3-^8 18 -- 18 =

18 - 6 - 4 = 18 = 6 + 2 + 3 + 11 + = 18
18 - 3 - 1 = 18 = 5 + 7 + 4 + 5 + = 18
18 - 4 - 4 = 18 = 11 + 3 + 6 + 3 + = 18

18 - 2 - 1 =

18 - 6 - 9 =

18 - 3 - 4 =

18 7 + 8 +
18 - 4 + 9 +
18 = 2 + 3 +

5 + 8 + =18
7 + 6 + =18
3 + 9 + =18



aunt

18-3/2 =
18-6/3 =
18 -4/4 =
18-3/5 =
18-2/7 =
18-3/4 =

^^mc SOaooi, AWTHMETIO.

84
IS = 14 + 2/

2J + 8/
8 + 2/
6 + 3/
9 + 3/

SB

18 =
18 =
18 =
18 =

18 = 10 + 2/

18 - 3 - 8 =
18 - 5 - 7 _
18 - 6 - 9 =
18 - 4 - 8 =
18 - 7 - 6 ,
18 - 2 - 9 =

86
18- 11 +
17 -

9 +
13 -
18 -

7 +

9 -.

8 -

4 =
3 =
a =

7 + 12 =
3- 6 =
9- 4^

96

-3-6 =
-9-5 =
-6-7 =
-3-2 =
- 5 - 4 =
+ 3+7 =

4

4

2

9

7

14

How many 9's in jg?
«ow many 3's in 9 ?

««^'nany3'sintwo9's?
tfow many 3's in ig?
3 IS what part of 18 ?

3 is what part of 9 ?

C'ne-sixth is what part of
Wh;

How
at will two 3's make

"owmany 6'sin 18?
What three '>"—

>

one-half?

How
'qua! parts will

"any 2's in 6 ?

make 6 ?

Hj

/i



POBUC SCHOOL ARITHMETIC.
9«

How many 2*8 in two 6*8?

How many 2's in three 6'8 ?

How many 2's in 18?

2 is what part of 18?

2 is what part of 6?

One-ninth is what part of

one-third ?

Count by 2*8 to 18.

Ounl

6 is what part of 181

2 is what part of 18?

Count by 6'8 to 18?

Count by S's to 18 '<

What part of 18 is 3 ?

What pirt of 18 is 6 ?

What part of 18 is 2?

What pait of 18 is 9?

How many I's in 18 ?

How many 2's in 18?

How many 3's in 18 ?

How many 4's in 18 ?

How many 5*8 in 18 ?

How many 6's in 18 ?

How many 7's in 18 ?

How many 8's in 18 ?

How many 9's in Ifi ?

97
How many lO's in 18 ?

How many Us in 18?

How many 12's in 18?

How many 13's in 18?

How many 14's in 18?

How many 15's in 18 ?

How many 16*8 in 18 ?

How many 17's in 18 ?

How many 18'a in 18

1

98

18 - 6 -r 2 = 3*4 -H = 18 18 = 4-^2-1-

18 - 15 ^ 3 = Itl + = 18 18 = 9 -r 3 -(-

18 - 18 -r 3 = 6«3 + = 18 18 = 18 -7- 3 -1-

18 - 16 -=- 4 = 4*4-1- = 18 18 = 16 -r 4 -1-

18 - 15 -r 6 = 2*9 -t-
= 18 18 = 15 -r 5 -t-

18 - 12 -^ 2 = 2^6-1- = 18 18 = 18 -=- 9 -1-



Pt/BUo

3'«-4/3 =

« ' 3 - 3 / -,

^^^-3/2 =
^ ' -' - 3 / 3 =
^^5 - 2/7 ^

One-ninth of is -
One-third of 12

~

One-fourth of j«~=
Une-seventh of 14 ,

f ?« what part of ]«

?

.:
!" ^hat part of 14 J

,^.'8 what part of 10?
^•s what part of i«?

3'« what part of 1.7?

J
!« what part of i'h,

-^ 's what part of {,
?

'

^?s whatpart of 8?
* 's what part of i«?

^
js what part of lo?

5 « what part of 15?
^•s what part of 12?

8CHCX)L
AftlTHMETIc.

99 »r

J^
- 2 -H4 ^ 7 _

3-^ 7-^4 =

'^ + 14 - 7 =,

« + 5 - 3 - i.<

^«-4-ne^;; 18 - r> - 7 .

'^- 3 + 0,
100

One-eighth of la ,
One-fifth of 15 =.

One-sixth of in _
One-third of 18 =

: ;« what part of 8 ?

f !« what part of 12^
^« what part of e/
-^ Js what part of 4 ?

3 is what part of 15?

f
!« whatpartofs?'
w what part of 15 ?

4 « what part of 12?
's what part of 4

?

'

J /« what part of ig ?

^'« whatpa,tof J4,
'^ 's what part of ig

?'
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101

How many feot in 18 inchest

How many yards in 18 feet?

How many pounils in 18 ounces?

How many quarU in 18 pints?

How many weeks in 18 days?

How many dozen in 18 eggs?

102

1 A house has 6 windows in one side, 7 in the

other, and 2 in each end. How many windows are

there in the house?

2. A man sold 3 barrels of apples at 6 c'.oUars a

barrel. How much money did he receive for them ?

3. Mary's mother put 9 quarts of syrup into pint

bottles. How many bottles did she use ?

4. On a boat were the ow- er, his wife and 2

children, and a crew of 13 men. How many people

were there on the boa',?

5. How many peanuts at 3 cents a pint can Tom

buy with 18 cents?

6 Six boys went out camping. Their expenses

were:—Tent 5 dollars, boat 3 dollars, milk 2 dollars,

butter 3 dollars, meat 4 dollars, and oil 1 dollar. They

shared the expenses equally. How much did each

boy pay?
^^^

Write in figures :-IX, XVI, XIV, XIII, IV, VI,

XVIII, xvn, XII, XV, III, XL

Write in letters :-7, 18, 3, 15, 11, 17, 4, 16, 10, 8, 9, 12.



Ouwi,

19-. 10

«"»"C SCHOOL

l» - H =

I«- 5

4 +
16 +
» +

13 +
2 +
8 +

= 19

= 19

= 19

= 19

= 19

= 19

19-3- n

19-8- 3.
19-2- 9.
19-6- 6 =

19 = 3<6 +
19 = 4<4 +
19 = 5/3 +
19 = 2/7 +
19 = 3/3 +
19 = 6/2 +

19 - 11

19 - 16
19 - IH
19 - 13
19 ~ 17
19 -- 12 ^

15 =, 19 _
r = 19 _

11 = 19 _
6 = 19 -

16 ., 19 -
2 = 19 -

ARm/METIO.

104

19 =
19 =

7 +
14 +

19= u +
19 = 1-, +

6 +
11 +

19 =
19 =

19 :=

19 =
19 =
19 =,

19 =
19 =

106

19 -
19 _
19 -
19 _
lU _
19 -

106
3 + 9 +
11+6 +
9 + 4 +
8 + 7 +
4 + 8 +
6+7 +

= 13

= 8

= 10

= 4
= 17

19 -
19 -
19 -
19 -
19 -
19 -

+ »= 19
+ 3= ,9

+ 14 = 19
+ 7 = ,9
+ n = ]»
+ 16 = 19

= 9

= 4

= 3

= 17

a

t

= 11

107
19-4/2 =
19-2/9 =
19-3/3 =
19-4/4 =
19-2/6=,
19-3/6 =

« +
3 +
6 +
4 +
5 +
7 +

6 +
10 +
3 +
7 +
9 +
7 +

= 19

= 19

= 19

= 19

= 19

= 19

19 =
19 =
19 =

3 + 4/
5 + 2/

10
^ + 2/

19 = 11+4,
19= 4 + 3/
^" = 1+6/



PCBLIO SCHOOL AniTHMETlC,

1ft - 18 -r 3 -

19 - l« -^ 4 -

19 - 15 V 3 -

1ft - 8 4-4-
19 - 1« -H --i -

19 - 18 -^ 2 -

14 -r

13 -r

1«

16 .

IH -H "2 +
4

Kl

15

1-2 -r 3 +
1-2 -^ -2 +

•2 +
4 +
3 +

. 19

= 19

= 19

= 19

- 19

> 19

108

4 -r 2 + 18 -;- « -

15 -:- 3 + 14 -r 2 =

7 + 18 -r 2 =

') + 1« -r 4 =

S + IK -r 9 =
• + 9 -r 3 =

100

1 Tom bought 1 pound and 3 ounces of candy.

He gave his sister 7 ounces. How much candy ha<l

he lefts

•2. Mary went to town and stayed 2 weeks and 5

days. How many days was she in town?

3. How many yards in 1ft feet?

4. Jennie bought 1 foot and 7 inches of ribbon.

How many inches of ribbon had slie ?

5. How many quarts in 19 pints?

110

How many I's in 1ft?

How many 2'8 in 18?

How many 3's in 19?

How many t's in 19?

How many »'s in 19 ?

How many O's in 1ft?

How many 7's in 19?

How many S's in 19?

How many ft's in 19 ?

Kow many lO's in 19 ?

How many ll's in 19?

How many 12's in 1ft ?

How many 13's in 19?

How many 14's in 1ft ?

How many 15 -s in 19 ?

How many 16's in 19 ?

How many 17's in 1ft ?

How many 18's in 1ft ?

How many Ift's in 1ft ?



Add
5

4

•2

3

2

2

8

7

2

7

2

4

5

6

4

5

12 +

9 +
17 ~

-IS. Q

- 19
2- p

- 16

» 4

4 /

19 -
17 -.

8

4 + 2 -
3^4 =
5^3 =

i8 -^2 =
+ fl + 5 =

"'BUC SCHOOL
ARiTHMina

1

8

3

tf

8

2

9

4

m
6

6

2

5

4

7

3

5

6

3

H

2

2

8

4

3

8

4

8

p

8

6

4

4

1

6

7

5

5

2

9

3

3

6

4

6

2

4

9

2

iia

+ 1 = 19
+ « - 18-3+ 7^j3

^ 5 + 14 „ jj.

+ «+ 4-19

3 /

4 / 8 /

19 ~
8 +

2 +
3 /

9 +
- -i-ii ^
-14^ 7,
' 3-11^

101

4

3

6

8

7

3

1

1 .
4 -
2 =

11

113

^ +5 + 5

/f:|--^^+ 4 + 6
16-2-3-,_
.^«-5--4-6:

4 ==

8 + 6-
J4-9 +
9+7-

« i»-2-6r
i9 - 5

4 + 9
.8-7

3 =
13 =
2 =

- 9 =
+ 5 =
+ 4 =
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Add
3 3 2 1

114

3 2 2 2 3 3

2 2 3 3 2 3 1 2 3 2

3 1 1 2 2 1 3 3 1 2

4 2 3 1 3 3 2 2 3 3

1 3 2 3 3 2 2 2 3 2

2 3 3 2 3 3 2 1 3 2

3 2 3 1 3 1 4 3 3 2

116

Beginning with 19, subtract 2 as often as you can.

Beginning with 19, subtract 3 as often as you can.

Beginning with 19, subtract 4 as often as you can.

Beginning with 19, subtract 5 as often a« you can.

Put in the signs

;

116

3 4 7 6 2 12 8 2 6

15

7

6

18

9

11

8

9

7

3

15

3

8

3

2

4

4

12

4 6 19 15 3 5 3 12 9

18

4

3

4

6

16

19

6

8

18

11

12

6

12

18

5

3

17

9 6 15 2 8 16 8 16 2

9 6 13 9 7 16 10 2 5

g 9 17 13 5 18 9 9 18

18 5 13 2 4 2 18 2 9

7 7 1 5 15 3 13 1 13
1

14 7 2 10 4 14 12 3 4



OUMl,

10-

20

.10

10
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117

What two equal numljers make 20?
What two equal numbers make 10?How many lO's in 20?
How many ,5's in 10?
How many 5's in two tens?
How many ,5's in 20?
5 is what part of 10 ?

ij i.s what part of 20 ?

10 is what part of 20?
Count by 5's to 20.

How many lO'.s in 20?
What five equal numbers make 10?Wow many 2's in 10 ?

How many 2's in two tens?
How many 2's in 20 ?

2 is what part of 10?
2 is what part of 20?
One-tenth is what part of one-half?How many 4's in 20?
4 is what part of 20?

108

20 -r 4 =
20 H- 20 =
20 ^ 10 =
20 -f 5 =
20 -^ 2 =

118

20 =

20 =

20 =

20 =

20 =

/20

t 4

t 2

no
t o

20 -r

20 -=-

20 -f

20 -h

20 -^

= 4

= 2

= 5

= 10

= 20



104

16 +
18 +
15 +
10 +
13 +
19 +

20 =

20 =

20 =

20 =

20 =

20 =

24-
20-
20-
20-
20 -

20-

20 -

20 -

20 -

20

20

20

PUBLIC SCHOOL ARITHMETIO.
OmADll.

119

= 20

= 20

= 20

= 20

= 20

= 20

14 +
8 +
16 +
1 +

13 +
9 +

4M =
- 3f2 =

- 5 < 3 =
- 2 < 9 =

- 4«5 =
- 6*2 =

-6-3 =

-8-9 =

-7-8:
-11-5
-4- 7

- 5 - 8

+
+
+
+
+
+

20 =

20

20

20

20

20

3 = 20

6 = 20

9 = 20

11 = 20

8 = 20

2 = 20

20 - 12 =

2(t - 4 =

20 - 17 =

20 - 8 =

20 - 15 =

20 - 11 =

120

+ 15 « 4 = 20

+ 4 20 = 8 +
+ 17 +5=3
+7 2t =20
+ 14 20 - =11
+ 11 -8=9

121

20 - 20 + 5 =

20 - 18 + 2 =

20 - 14 + 2 =

20 - 16 + 4 =

20 - 20 + 2 =

20 - 15 + 5 =

122

20 = 4 + 8 +
20 = 3 + 5 +
20 = 11 + 5 +
20 = 8 + 9 +
20 = 6 + 7 +
20 = 8 + 6 +

7 = 20 -

12 = 20 -

9 = 20 -

18 = 20 -

3 = 20 -

14 = 20 -

t 2 = 20

+ 4=5
« 3 = 18

16 + =2
14 + =20

- 3 = 17

4 = 20 - 2

(

5 = 20 - 3 «

2 = 20 - 2 <

14 = 20 - 3

«

10 = 20 - 5

«

6 = 20 - 2 «

20 + 5 + 18 + 3 =

20 + 4 + 16 + 2 =

15 + 3 + 20 + 2 ^

14 ^ 2 + 18 + 6

20 + 10 + 9 + 3

15 + 5 + 12 + 2
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-7-0 =
- 3 - 5 = il-6-8 =
-»-3 =
- 7 - 5 =
-9-8 =

PUBLIC SCHO<,L
ARITHMETIC.

123
9+8 =
18+2 =

- 7=13
+ 16 = 20
^ 4 = :>0

+ 3= 6

4 + 6 +
7 + o +
6 + 8 +
9 + 7 +
3 + 8 +
8 + 7 +

= 20

= 20
= 20

= 20

20

20

124

f +7+4+2=
*' + 9 + 3 + 2-
3+4+H+4^
f
+3+6+5^

* + 5 + o + 6 ^
^ + 9 + 6 + J ^

20 = 4 +
20 = 8 +
20 = 6 +
20 = 9 +
20 = 5 +
20= 7 +

106

+ 8

+ 7

+ 3

+ 7

+ 8

+ 7

4 ^ •'5 - 2 / 5 =
«^3-3,3^
5 if 2 ~ 2 ; 2 =
5^4 - 3/4 ^
6^2-2if2 =
4^3-U3^

^5

(3

t2

(4:

t-2

f3

125
20 -

+

17 -

t

20 +

126

= 7
12 = 19
6= 3

= 4

4 = 20

= 2

4^ 5 - 3 / 2 =
2^10-3^3 =
'^ ^ 4 - 4 / 3 ^
^t 3-4/2 =
4 ^ 4 - 3 / 5 =

10^ 2-3/6 =

-6-4= 6
-3-9= 8
- 5 - 3 = n-4-8=

5
- » - 9 = 2-6-8=

4
Write in figurgg.

126

XVlIl/i^'^f\ XIV, IX. VII, VI vrv
XVII, in;

^'' ^n VII. XX, xin; f^^
^"te in letters .-^e j, .„ ,

''' ^' 7. 16, II.
'' ''' ^«' ^' 9. 15. 4. 19, «, 13 ^-
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How
How
How
How
How
How
How
How
How
How

PUBLIC SCHOOL ARITHMETIC.

many
many
many
many
many
many
many
many
many
many

I's in 20?

2's in 201

3's in 20?

4's in 20?

iVs in 20?

6's in 20?

7's in 20?

8's in 20?

9'8 in 20?

lO's in 20 ?

127

How
How
How
How
How
riow

How
How
How
How

128

many
many
many
many
many
many
many
many
many
many

It's in 20?

12's in 20?

13's in 20 ?

14's in 20?

15's in 20?

ItJ's in 20 ?

17'8 in 20?

Irt's in 20?

19's in 20?

20'8 in 20?

One-fourth of 20 + one-third of 18 =

One-half of 14 -I- one-sixth of 18 =

One-fifth of 20 -t- one-fifth of 10 =

One-half of 12 -I- one-seventh of 14 =

One-tenth of 20 -1- one-third of 6 =

One-fourth of 12 + one-fifth of 20 =

One-ninth of 18 + one-half of 18 =

129

How many feet in 20 inches ?

How many dozen in 20 eggs ?

How many yards in 20 feet ?

How many weeks in 20 days ?

How many pounds in 20

ounces ?

How many quarts in 20 pints?

20 cents - 2 f 5 cents =

20 cents - 4 < 3 cents

20 cents - 6 f 2 cents

20 cents - 5 ? 3 cents

20 cents - 8 f 2 cents

20 cents - 4 < 4 cents
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^- A boy harl 9n ^^

-^^ A boy had lo

^ ^
3 After spending 8 3: r

'""'''' '"^^' ''« ^^ft

•"any dfd bo^', cafeh?
""'^ '^"'^'^ ^^"ght 7. How

•'• After givintr 6 eenf^ r
^ cent pieces ,eft.

'
HonU'''^-'^' ^^^ had two

Subtract
""'"'•»'' she at first?

1« 20 18 j3
'^'

-? L* r 6 ';
'I

2« 19 14~ - - -^ H ^ _8
^^ ^^ 18 16 ,7 ~

— — _:_£ 8

1 At 5
^^2

thread co.i'.
' "I^l »ta wuld 2 ,p^,_ _^^

for /„°ST '"•'"""-' W«.„^,„„„^.°

20 16

17 11
18

12
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6. Elsie bought 4 pencils at 3 cents each. What

did she pay for them 1

7. At 10 cents each, what would 2 balls cost?

Add 133

3 6 4 3 7 3 5 2 4

5 4 5 5 2 4 5 2 2

2 3 4 5 3 2 3 7 3

4 2 3 3 i> 3 4 6 3

5 3 4 1 2 6 2 3 5

Subtract
19 18 17 13 11 19 20 14 lo

3 11 6 4 7 12 18 9 7

134

1. Jack had 20 cents. He bought 3 oranges at

4 cents each. How much had he left?

2. Helen spent 9 cents for candy, and she bought

2 bags of pop-corn at 5 cents each. How much money

did she spend?

3. A man worked 6 days and earned 3 dollars a

day. He bought a hat for 2 dollars, a pair of shoes

for 5 dollars, and a coat for 4 dollars. How much

money had he left ?

4. One day Mary gave 4 little girls each o cents.

How much did she give away?

5. Ted paid 3 cents for a pencil and 4 times as

much for a book. How much did he spend ?

6. What is the cost of 3 tons of coal at 3 dollars

a ton?
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^^BUO SCHOOL
ARrrHMKTiO.

pencil,' 6 Tem.T"''"
" ''^"^^ ^''^ marbles •?

"^ 'le spend ?
''^^"'^ for ink. How

4. A boy worked 9 ^
"

*'°*^ «^ost ?

. T ,

""^ much
" John had 5

then ?

^'- Marv hni,„i.* .>

20 =
20 =
18 =
19 =
20 =

^9 + 2
^3 + 8
t-2 + 4:

td + i

f2 + 6

18 =
19 =
20 =
U =
14 =

137

^3 + 13

^2+12
-^4+ i(i

-^2+3
-2+ 5

20 - 6 - r =
19-3-7^
20 - 9 - 4 ^
20 - 4 _ 8 ^
20 + 6 + 6 =



V

'J
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138

OunL

1. A quart bottle holds how many pints?

2 Mary has » quart l)()tiles and a pint bottle.

She wants to fill them with fruit. How many pints of

fruit must she have?

3 A man hail 18 baskets of berries. If he sold

three baskets to each of 4 customers how many had

he left?

4. At one dollar a day, how much can a woman

earn in the working days of three weeks ?

5 What change should Jennie get from a five-cent

piece and a dime, if she buys 2 loaves of bread at 5

cents each and 2 buns at 2 cents each?

Subtract law

7 9 10 11 8 9 12 16 13

4 5 4 7 5 3 7 9 6

15 7 9 8 11 12 17 13 11

8 2 3 4 6 8 12 8 ^

15 14 18 19 13 19 20 14 20

13 11 15 14 2 6 15 8 16

140

1. If 2 apples cost 6 cents. What is the value

of each ?

2. Two boys earned 20 cents. What did each one

earn?



••^Bl-iC SCHOOL AWTHMETIO.
3. Roy's father hr..„»hf i

'"

""'nye^ dul each chij.i g^t/'"
- ''"''J'^"- How nmny

the ^uJI of r;':,,?
"""- -^ ^O ee„t.s. What ..

correctly? ^"«"- How „,a„y ,,;,, j J^^J^J

61 paifl 20 cents f„r 4."'as each quart wo,.th ?

**"*"'* "^ ""Ik.

Put in the signs
8 6 14

What

141

3

20

U
13

6

4

18

6

18

a

7

9

= 14

= 8

= 16

= 6

= 15

3 t = IH
-r 6= ;j

+ f» = „;

-n =
J,

t 4 = 12

ilul

each pen cosU^"" '"^ "'"'*' ^^^ 3 pe„s. ^hat ..„,

valueV:::hf^^P ^^^^ -^^^ ^^^ <'o„ars. What is the

-.'•
The^r: rr t.tri:^^ ^? -- ^^--inrows are there?

"' '" ''^^^ row. How n.any
4. We have *? (-oKi
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143

= 18 - 16 ( -20 i - 15

- 18 - 1« 1
~ 20 1

- 15

V = 18 - 16 - 20 t ~ 14

,1 r - 18 = 16 f -20 ( - 14

t - 18 = 16 ; -20 ( -14

144

1. A man had 15 horses. He put them into 3

barns, putting the same number into each. How many

horses were there in each bam?

2. A man earns 18 dollars in a week. He spends

one-ninth of it for a hat. How much has he left ?

3. If 3 oranges cost 12 cents, what will 5 costi

4. Six sheep are worth 18 dollars. Find the value

of each.

6. Jack earned 20 dollars in 5 weeks. What did

he earn in 3 weeks?

146

r 3 =

20 -r <

5 =

2 =

1 =

4 =

10 =

,20 =

18 -^ {

9 -

18 =

6 =

2 =

1 =

16 -r

4 =

2 =

16 =

8 =

1 =



ottn 1.

M» _

"^"UO «CHOC.. ,«„„„^,^

17 ~

^'lat would

W'hat was

. '• Mary p„id ^ ee„^«T
" PenciJ.s cost ?

^^ '^"' -' pcnciJs.

*• tTed earned j"
cents „ore. He .he^ ZZ^S t' T^' ^"^ ''"» -^

5 if" 7"^- -»^« '-d he',e?r""
'^^ ' -nt. a

3^0" need ta/IU 2^
'cot^oTe^

^^ ^^ '^^

2 nines and
3 -sixes and
5 threes and
4 fours and
9 twos and
6 threes and
2 sevens and

147
= 20
= 19

= 19

= 18

= 19

= 20
= 20

13 +
7 t

8 +
t

19 -

9 t

lo -

= 20
2 =
6 =

4 = 16
7 =

= 18

= 9
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148

1. A nwn piiil •-'<» (lollfiis for 4 tons of itwl. Whnt

WHS tht! viiliio of :l tons ?

•2. Tliiee spools of silk coHt H cents. Kiiul the

VllllU! of •_' sjK)ols ?

;i. Ncl eiiiiUMl 1« ilolliirs ill 4 weeks. Wimt ilitl

111! eaiii ill :t weeks ?

4. A boy wlio hull 4 cents went on four i-rrtinils,

eaniing 3 cents for each. How much money (li<l he

have then ?

f). Sailie made a pound of candy. She ^ave Jennie

one-eighth of it. She gave AUie one-fourtli of it. How

many ounces did she have left?

Add
a

4
3

4
•2

.>

5

3

3

4

«

4
5
•2

1

3

4

3

5

3

149

4
•2

a
")

•>

•2

2

2

6

3

3

2
5

5

4

5

i)

1

2

3

«

3

3

5

160

1. Fred had 15 cents. How many oranges could

he buy at o cents each ?

2. Coal is « dollars a ton. How many tons could

be bought for 18 dollars?

3. At 2 cents a quait for picking berries, how

many quarts would John have to pick to earn 12 cents ?

4. Milk is 10 cents a quart. How many quarts

can I buy with 20 cents ?

5. A man earns 4 dollars a day. How long will

it take him to earn 1« dollars?



QaiH t

+

t

- I (J

(»= 17

.'< = In

4= Id

"^"UC SOHCK.,.
.H,T„MKT,0.

/ 4 = !>,,

-:»=
(J

4 ^ -, ,

lU

-'"--•-4-4-;:

'-•-'-
1' - 2 =

'• inere were •>(» nii..;i •

out in 4 f.,^^ „ P"l"'« 111 u NcIi„ol Ti,

-'• ^" t''o winter „„,[
.""-"'"' •"'=1' row ?

-"y pints eo„M^;.^^,-/;.-nt««p,,, „„^^

;;

';:' -^^ ^^^ ,>l"tw""" ^"""^ '-'^ -^ ^^ ..bought with ,.„ eents/' " '""">' "'"'-J «h., have

•^- Rice is (j (,,.,, ^

™"'<1 r b„, f„, „ :^^ PO"n.l. How „.«„, p,.„„„^
'»• A newsbov sdlu ^

3 M / 2 =
'" W 2 =

163
2 / ;w 2 =
4 / 2 / 2 =

1 / I M =
1^8^2 =

2 / 3 / 3 =

2 / .-, / 2 =

4^3u =
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154

1. Two hoys dig a garden in :? .lays. How long

would it take 1 boy to dig it?

2. Three men cut a field of hay in 3 days. How

long would it take one man to cut it?

3. Three boys pick up the potatoes in a garden

in 2 hours. HoW long would it take one boy to do it ?

4 It took 4 days for 3 boys to pick up a pile of

stones. How long would it have taken 1 boy?

5 Five boys have enough hand bills to distri^bute

to keep them bu.sy for 3 hours. How long would it

take one of them to distribute all of them '.

17 - one-half of 18 =

20 - one-third of 12 =

19 - one-seventh of 14 =

One-sixth of 12 -I- 7 =

One-half of 14 -1- 9 =

One-third of 1» + 8 =

155
16 - one-fourth of 20 =

15 - one-sixth of 18 =

20 - one-ninth of 18 =

One-fifth of 15 + 9 =

One-tenth of 20 + 11 =

One-eighth of 16 -H 7 =

156

1 Jennie had 19 cents. She .spent 5 cents for a

ball, 8 cents for a doll, and 2 cents for gum. How

much liad she left?

2. If nuts are 4 cents a quart, h<.w much will

Fred have to pay for 5 quarts?

3. At 16 cents a pound, how much will 8 ounces

of raisins cost 1
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' <>«« ^u:>', seven inHow raa.y ^inj^^^
^re there in /i ^ '" "'*'''• «nd.inere in the house? ^ -.."..uws

..n.4,iS,%*'Z.7<' w™. '" "P ''» pick .1,.

""Wke p., ?:;';* ,^~'W=. for .8 „.„. What




